Permit

King County Parks

Marymoor

PHONE:(206) 477-7275

6046 W. Lake Sammamish Pkwy

Redmond, WA, US 98052

EMAIL:marymoorpark@kingcounty.gov

Permit # R11509 Status Tentative

Date Feb 23, 2024 2:16 PM

Expiration Date Feb 21, 2029

Organization Name American Recreation Cricket League - MM -

268

Customer Type General Public **Organization Address** 2424 212 Av SE

Sammamish, WA 98075

Agent Name Cell Phone Number (425) 753-7060 Ilyas Mohamed

> **Email Address** itsilyas@gmail.com

> > 2 resource(s)

System User Amanda Enright Payer American Recreation Cricket League - MM

> Rental Fee \$4,846.00 Discounts \$0.00 Subtotal \$4,846.00 Deposits \$0.00 **Deposit Discounts** \$0.00 Total Permit Fee \$4,846.00 **Total Payment** \$4,846.00 Refunds \$0.00 Balance \$0.00

> > 10 booking(s)

Subtotal: \$4,846.00

MM Summer '24 - American Recreation Cricket League

Event Notes:

STR (Single Team Reservation) balance in full is due at time of reservation. All STR Permits are Non-refundable

Current Insurance Certificate and Endorsement are due prior to any field use

Payment Information:

A minimum payment of \$500 deposit is due immediately to hold each reservation permit with a balance over \$500. Full payment is due 1 week before your scheduled day of play.

This fee will be applied toward your final balance per permit.

The application fee is non-refundable after March 1, 2024.

Permits with totals less than \$500.00 must paid in full.

14 Days Cancelation Policy - Cancel Fee: \$10/hour

Tournament Cancel Fee: \$15/hour

STR (Single Team Reservation) balance in full is due at time of reservation. All STR Permits are Non-refundable

Rainouts: All reports of rainouts must be emailed to the Athletic Scheduler no later than 5 days from the date of the rainout occurrence to receive credit.

Payment Methods:

All balances need to be paid in full prior to scheduled field use.

We accept Visa, MC, Discover Card and Checks - Make checks payable to King County Parks

Payments can be made over the phone or a check can be dropped off at the Marymoor Administrative Office drop box.

Field Scheduler (206) 848-0256

Front Office (206) 477-7275

Office Hours Mon-Fri 9am-4pm

Please communicate with all team members that Marymoor charges \$1 for parking. Please pay the \$1 parking fee to avoid a \$35 parking violation. Parking passes are now available online for purchase. http://kingcounty.gov/parks/marymoorparking

To check Baseball Field playability, call the Rainout Line at 206-205-6722, check website https://statusfy.com or download the app

Booking Summary

MM - Soccer 6 - Cricket (MM - Athletic Fields)

Center: Marymoor Park

R11509 Status Tentative Page 1 of 4

START DATE/TIME	END DATE/TIME		ATTENDEE	AMT W/O TAX
Sun, Jul 14, 2024 11:00 AM	Sun, Jul 14, 2024	4:00 PM	45	\$300.00
MM - Athletic - Synthetic - Prime	\$60.00 / Hour x 5 \$300.00)		
Sat, Aug 3, 2024 9:00 AM	Sat, Aug 3, 2024	7:00 PM	45	\$600.00
MM - Athletic - Synthetic - Prime	\$60.00 / Hour x 10 \$600.00)		
Sat, Aug 24, 2024 4:30 PM	Sat, Aug 24, 2024	9:30 PM	45	\$334.50
MM - Athletic - Synthetic - Prime	\$60.00 / Hour x 5 \$300.00)		
MM - Soccer Field - Lights	\$23.00 / Hour x 1.5 \$34.50			
Sun, Aug 25, 2024 1:00 PM	Sun, Aug 25, 202	4 8:30 PM	45	\$461.50
MM - Athletic - Synthetic - Prime	\$60.00 / Hour x 7.5 \$450.00)		
MM - Soccer Field - Lights	\$23.00 / Hour x 0.5 \$11.50			
MM - Soccer 5 - Cricket (MM - Athletic Fields) Center: Marymoor Park				
START DATE/TIME	END DATE/TIME		ATTENDEE	AMT W/O TAX
Sun, Aug 4, 2024 9:00 AM	Sun, Aug 4, 2024	7:00 PM	45	\$600.00
MM - Athletic - Synthetic - Prime	\$60.00 / Hour x 10 \$600.00)		
Sat, Aug 10, 2024 9:00 AM	Sat, Aug 10, 2024	7:00 PM	45	\$600.00
MM - Athletic - Synthetic - Prime	\$60.00 / Hour x 10 \$600.00)		
Sun, Aug 11, 2024 9:00 AM	Sun, Aug 11, 2024	7:00 PM	45	\$600.00
MM - Athletic - Synthetic - Prime	\$60.00 / Hour x 10 \$600.00)		
Sun, Aug 18, 2024 8:30 AM	Sun, Aug 18, 2024	4:00 PM	45	\$450.00

Waivers	and	Information

Sun, Aug 25, 2024 8:30 AM

Sun, Sep 15, 2024 8:30 AM

MM - Athletic - Synthetic - Prime

MM - Athletic - Synthetic - Prime

MM - Athletic - Synthetic - Prime

WAIVER NAME	DUE DATE	FOR	SIGNING STATUS
Release and Waiver of Liability	Jul 14, 2024		Waiver Signed

Sun, Aug 25, 2024 4:00 PM

Sun, Sep 15, 2024 4:00 PM

\$450.00

45

\$450.00

\$450.00

\$60.00 / Hour x 7.5 \$450.00

\$60.00 / Hour x 7.5 \$450.00

\$60.00 / Hour x 7.5

R11509 Status Tentative Page 2 of 4

The undersigned organization or individual using these King County facilities understands that use of these facilities poses certain risks and dangers, including, but not limited to, slips, trips, falls, athletic injuries, illness (including exposure to and infection with viruses or bacteria), unforeseen events caused by the forces of nature, property damage, personal and/or bodily injury, paralysis, death, or other harmful consequences to the undersigned organization or individual, and/or its members and participants. The undersigned organization or individual acknowledges that the preceding list is not inclusive of all possible risks associated with use of these facilities and that said list in no way limits the operation of this Agreement.

In consideration of the undersigned organization's or individual's opportunity to use these facilities, the undersigned organization or individual hereby agrees to assume all risks for any harm, property loss or damage, personal and/or bodily injury, paralysis, death, or other harmful consequences that may occur to the undersigned organization or individual and/or its members and participants in connection with the use of the facilities, regardless of whether such risks, harm, injury, or damage were foreseen or unforeseen. The undersigned organization or individual understands that King County shall not be held liable in any way for any occurrence arising out of the organization's or individual's use of these facilities and agrees to waive any right of recovery. The undersigned organization or individual also agrees to protect, defend, indemnify, and save harmless King County, its officers, officials, employees, and agents, from any and all claims, demands, suits, penalties, losses, damages, judgments, or costs of any kind whatsoever, arising out of or in any way resulting from the use of these facilities. In the event King County incurs any judgement, award and/or cost arising from the organization's or individual's use of these facilities, including attorney fees, all such fees, expenses, and costs shall be recoverable from the undersigned organization or individual.

I, the undersigned individual or authorized and responsible representative of the petitioning organization, hereby certify that the preceding statements are true to the best of my knowledge, and that I have read all of the regulations, policies, and facility use requirements governing users of King County Parks' facilities, which are enclosed with this permit and agree to follow the rules of use for King County Parks codified in the King County Code while using these facilities. The undersigned agrees to accept any and all legal liability for damages to the facility and/or equipment covered in the permit, and/or injuries arising out of or in any way resulting from use of the facilities by any or all of the organization's members.

Timing of Payments: Late Fee Jun 14, 2024 Unsigned

Payment and Refund

The County shall assess Host a late payment fee of one percent (1.0%) per month until Host pays any balance remaining after the date a fee is due. Failure to remit timely payment shall be a material breach of Host's obligations under this Agreement, and subject to collections referral and/or termination of this Agreement, pursuant to Section 7.1. A copy of the County's Collections Procedures is available upon request.

DECEIDT # DATE FEE DESCRIPTION EVENT PESCUIPCE PAYMENT / PEFLIND

RECEIPT #	DATE	FEE DESCRIPTION	EVENI	RESOURCE	PAYMENT / REFUND
1008032.010	Jun 24, 2024	MM - Athletic - Synthetic - Prime	MM Summer '24 - American Recreation Cricket League	MM - Soccer 6 - Cricket	\$1,650.00
1008032.010	Jun 24, 2024	MM - Soccer Field - Lights	MM Summer '24 - American Recreation Cricket League	MM - Soccer 6 - Cricket	\$46.00
1008032.010	Jun 24, 2024	MM - Athletic - Synthetic - Prime	MM Summer '24 - American Recreation Cricket League	MM - Soccer 5 - Cricket	\$3,150.00

R11509 Status Tentative Page 3 of 4

X:			

Date:

Marymoor

Mailing Address: 6046 W. Lake Sammamish Pkwy NE, Redmond, WA

98052

Phone Number: (206) 477-7275

Email Address: marymoorpark@kingcounty.gov

Date:

X:

American Recreation Cricket League - MM

Customer Type: General Public

Customer ID: 63111

Mailing Address: 2424 212 Av SE, Sammamish, WA

98075

Authorized Agent Name: Ilyas Mohamed Cell Phone Number: (425) 753-7060 Email Address: itsilyas@gmail.com

R11509 Status Tentative Page 4 of 4